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General Studies

Time allowed : 1 hour
Full marks : 100

Answer all the questions.

3 6 n 8 3 7 Questions are of equal value.
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Signature of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

x.

This booklet consists of 28 pages including this front page. Verify the Page Nos. and Test Booklet
Series on each page and bring at once to the Invigilator’s notice any discrepancy.

2. Answers will have to be given in the Special Answer-Sheet supplied for the purpose.

3. Before you proceed to mark in the Answer-Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the Answer-Sheet as per instructions sent to you in the Admit
Card. Do not fold the Answer-Sheet as this will result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to you to be correct
or the best. Now darken the circle corresponding to the letter of the selected answer in the
Answer-Sheet with Black Ball Point Pen as per instructions printed on the reverse of the Admit
Card and in the Answer-Sheet.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer.

6. There will be negative marking of % mark for each wrong answer.

7. There are blank pages at the end of this Booklet for Rough Work.

8. The Special Answer-Sheet should be handed over to the Invigilator before leaving the Examination
Hall. You are permitted to take away the used Test Booklet after completion of the examination.
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1. A watch seller fixed his marked price fixing
25% profit on cost price. But he sold the watch at
20% rebate. What was his gain or loss?

(A) 2% gain

(B) 2% loss

(C) 2:5% gain

(D) No loss or gain

2. An article was sold at a gain of 8%. Had it
been sold for Rs. 50 more, there would have been
a profit of 12%. Find the cost price of the article.

(A)Rs. 1150
(B) Rs. 1200
(C) Rs. 1250
(D) Rs. 1300

3. Acompletes % of awork in 14 days. Then

hetakes the helps of B and completes the remaining
work in 2 days more. In how many days can B
alone complete the work?

(A) 16 days
(B) 14 days
(C) 12 days
(D) 10 days

4. Jumbled lettersofa meaningful word are
given. You are to rearrange these letters and
selectfrom the given alternatives the word which
is almost opposite in meaning to the rearranged
word.

QHNASVUI
(A) Surrender
(B) Debase
(C) Destroy
(D) Ruin

1. 35w 9fS ool 9 wamena Boia 25%
M1 (A 4RI 3% e | R R 7w 20% wiw
e el RfEr 30w | $ix o e a1 %o 21

(A) 2% =

(B) 2% ®f®

(C) 2:5% =re

(D) it =fS 2t =ire =7l

2. 36 %35 8% 1ICe Rerw 731 21 | il wiwe
50 BRe fiite Rern s 12% aite 29| e
G e e |

(A) 1150 Brt
(B) 1200 Bt
(C) 1250 Bi=st
(D) 1300 5=t

3. A @GR % G* 14 Tt 907 | ©igom

B-43 712y fAta =8 2 fite =g Fiwis s
IR | B G @2 G T oty Fa09 A2

(A) 16 fam
(B) 14 fat
(©) 12w
(D) 10 fae

4. @3 SRE *wa WALl LTSI
Gl 29| wrFaeferE Aee g e
Renefm wy fdfen s o =B af
AT AT *H7 ey RoFr |

QHNASVUI
(A) Surrender
(B) Debase
(C) Destroy
(D) Ruin
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5. Under whose presidency was the Lahore

Session of the Indian National Congress was held
in 19297

(A) Bal Gangadhar Tilak
(B) Gopal Krishna Gokhale
(C) Motilal Nehru

(D) Jawaharlal Nehru

6. ‘Louvre’ Museum is located in
(A) London
(B) Venice
(C) Paris
(D) Kane

7. Ifthe number of works performed by p men
inp daysis p, then find the number of days in which
g men can perform g works.

(A) pdays
(B) qdays

© -3 days

q
D) —d
(D) 5 days

8. The Universities Act was enacted during
the Viceroyalty of

(A) Canning
(B) Curzon
(C) Elgin

(D) Reading

g
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5. 1929 A FEAA TETR FNRIT A I
seifery wcafbe wrfee ?

(A) 3 T [oere

(B) Colteilet e (oMATE

(C) s (ieese

(D) SreRFEN (T2

6. o fusfemm oxfze
(A) FG-@
(B) cef-¢
(C) #ifai-a

(D) FF-9

7. % p & @IF p T p FLAS & TS A,

TR g O T g TR G A T 79N, O
faefa 7w |

(A) p =

(B) q s

© L fm
q

©)  fa

8. (T SRR SN e wizw toff
AR ?

(A) IR
(B) 3Gie
(C) «=faw

(D) Ffer
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9. Which of the following statements is true?

A) VT+25 643,
B) Vi1+/3>y8+/6
©) V5+3>6+/2
(D) \/B+\/§>\/IZ+\/€

10. The first draft of the Indian Constitution
was prepared by
(A) Jawaharlal Nehru
(B) Dr. Ambedkar
(C) B.N.Rau
(D) Drafting Committee

11. Who among the following, is known as
‘Loknayak’?
(A) B.G. Tilak
(B) Jayprakash Narayan
(C) Lala Lajpat Rai
(D) M. S. Gohiwalkar

12. A wall clock needs 3 seconds to strike

6 bells. Determine the time it requires to strike
9 bells.

(A) 6 seconds
(B) 5-8 seconds
(C) 5 seconds

(D) 4-8 seconds

A4 .

9. Jiva Sfeehim @mD o2
(A) VT2 >6+3
(B) \/ﬁ+x/§>\/§+\/€
© \/§+\/§> \/—6_+\/2_
(D) \/-13+\/§>\/ﬁ+\/g

10. SRS HRetTa 22w W7ol tof FalEm
(A) QeZIA (2
(B) T2 SIEVRT
(€) R 97 2
(D) <=7e Fffe

11. FsfRe Ifewmm o & Ermme @
Afafdw?
(A) e omiyg foer
(B) Tw&aM Nl
(C) =Tl T i3
(D) @%. &7 (MReTFTHT

12. @b oree Ifets 6 5131 9951 e 3 Gires
WWﬁ»lﬁiﬂ@t@QWﬂ@WWmmm,
©f el e |

(A) 6 CTFT
(B) 5-8 CTT®
©) 5 CzE
(D) 4-8 GT®
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| 13. Rahim travelled a distance of 45 kms
in 4 hours. He travelled partly on foot at the rate of
8 kms per hour and the rest on bicycle at 16 kms per
hour. How much distance did he travel on bicycle?

(A) 26 kms.
(B) 23 kms.
(C) 22 kms.
(D) 19 kms.

14. The ratio of speeds of the minute-hand and
the hour-hand of a clock is

(A) 13
(B) 1:4
(C) 4:3
(D) 12:1

15. Which is the highest dam in India?
(A) Hirakund Dam
(B) Bhakra Dam
(C) Farakka Dam
(D) Kosi Dam

neighbours’— how many?
(A) Eight
(B) Seven
(C) Six
(D) Nine

16. ‘Indiahas a few countries as her immediate -

CDF/19

13. 7few 45 R 7Y @0S 4 T AW (R’ | G
gDl 72y &ife 9B 8 Rt AR ol &6 e
g A RDIE 16 TR AN AT 3 | F00 7
o1 ARG ot ¢

(A) 26
(B) 23 f&fw
(C) 22 f
(D) 19 ff

14. @z 9fez ffAGa 61 ¢ 767 o7 w=feq
TEATS R
(A) 1:3
(B) 1:4
(C) 4:3
(D) 12:1

15. OIS A 4 @A 2
(A) Bariw Ja
" (B) SR I
(C) Tt iy
(D) i Jy

16. SECSA AE 2SR AF W T2
(A) 5
(B) #Are
©C) =A
(D) 7@
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17. A is the father of C. But C is not his son.
E is the daughter of C. F is the spouse of A. B is
the brother of C. D is the son of B. G is the spouse
of B. H is the father of G. Who is the grandfather
of D? ‘
(A)A
(B)C
OF
(D)H

18. Agra Fort was built by
(A) Shahjahan
(B) Akbar
(C) Muhammad-bin-Tughlagh
(D) Humayun

19. Jumbledlettersof ameaningful word are
given. You are to rearrange these letters and
select from the given alternatives the word which
is almost opposite in meaning to the rearranged
word.

IOGTCNRYU

(A) Mismatch

(B) Disagreement
(C) Irregularity
(D) Inconsistancy

20. Who was the Viceroy in India when Quit
India Movement was launched?

(A) Lord Mountbatten
(B) Wavell

(C) Willington

(D) Linlithgo

17. A 27 C-93 foel; 5% C S g o)
E 2% C-49 391; F 2% A~93 F/71 (spouse) |
B 20 C-97 ®%; D g% B-43 57 | G 2(5% B«
B/= (spouse); H 20 G-97 foret | ORE D €1
vilv (grandfather) (& 33+ 2

(A) A
(B) C
OF
(D)H

18. Wl 7+ toft wzferew
(A) M=
(B) Wiw7
- (C) Tw-fRe-geer
(D) @

19. @30 wRqE Wt TR wddTers
Gl T wrwaefnE e g3 fnkife
AL A *r el o |

IOGTCNRYU
(A) Mismatch
(B) Disagreement
(C) Irregularity

(D) Inconsistancy

20. "SI QY SRS AW SR e
(A) =76 MTHIG
(B) extes
(C) T2
(D) fermfavesn
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21. Who discovered first sea route to India?
(A) Vasco-da-Gama
(B) Amundson
(C) Captain Cook
(D) Columbus

22. If water in a lake were to behave like other
liquids then in extremely cold weather it would
freeze

(A) from top to bottom.
(B) from bottom to top.
(C) simultaneously throughout the depth.

(D) first on the surface, bottom and sides
and then in the interior.

23. All surfaces of a cube are coloured. If a
number of smaller cubes are taken out from it, each
side Y4 the size of the original cube’s side, indicate
the number of cubes with only one side painted.

(A) 60
(B) 32
(C) 24
(D) 16

24. The simplest value of 1000 —999-9 will be
(A) 1 |
(B) 0-1
(C) 0-01
D) 0

A-7

CDF/19
21. SRS SR AYGL (3 2L SIH I 2
(A) ©ITH-T-afi
(B) SRR
(C) T T
(D) T2

22, @3z T W A @ o el
YA I O 5 I (R & 9T I
(A) 899 (AT T
(B) A6 (A 8T
(C) 8 MR T (@A T
(D) 22 @7, Wb, 419 @I (T Tl
(SO T

23. 93 cube-93 ¥ ToifFomala afeq| T
@5 cube wf FEIMH ARE@ @ W, @ @O

cube & 2 fies 371 cube B, o i

2few @ cube-a7 AR T e |
(A) 60
(B) 32
(C) 24
(D) 16

24. 1000 —999-9 <43 HIETEN AL 2
A) 1
(B) 0-1
(C) 001
D) 0
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25. Which planet appears to be the brightest in
the night sky?

(A) Jupiter
(B) Saturn
(C) Venus
(D) Mars

26. Locate the wrongly matched:
(A) India Kabaddi
(B) Russia Chess
(C) USA Basketball
(D) England — Cricket

27. The length, breadth and height of a room

are respectively g8, ' and (2\/1—1 )’ . What is the

length of the longest iron rod that can be kept
inside this room?

(A) (12\/5)'

(B) (11\/3)'

©) 12

D) 11

28. The sum of the squares of two consecutive
even numbers is 5620. The sum of the numbers is
(A) 100
(B) 102
(©) 104
(D) 106

A-8

25. S SIBITH (I 220 A ST (741 2

(A) Fifs
(B) =ify

(C) u&
(D) W&

27. 3% 09 0, 21y @ Tt 2T g, ¢ @

(2Jﬁ)' | R TR 0 T o7 @ e Aol
RN A, O S ¥ Q2

(A) (12\/5)'
(B) (11@)'

© 12

(D) 11’

28. b @i 3o R2yt7 q0ofa T 5620 | eyt
707 QoIwe 2@
(A) 100
(B) 102
(C) 104
(D) 106
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29. Choose the odd word:
(A) Mackenzie
(B) Yenisei
(C) Michigan
(D) Danube

30. Which one of the following Himalayan
passes was reopened in 2006 to facilitate trade
between India and China?

(A) Chang La
(B) JaralLa

(C) Nathu La
(D) Shipki La

31. Variable Energy Cyclotron Centreislocated
in
(A) Kolkata
(B) Mumbai
(C) Delhi
(D) Hyderabad

32. What will be the number at the bottom, if
5 is at the top; the two positions of the dice being
as glven below:

(i)
A1
(B)2
©3
(D)6

Latest Sarkari Jobs, Govt Exam Results,
o o Know More
Vacancies and updates on one click
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29. Sy *% b Fi I 2
(A) Mackenzie
(B) Yenisei
(C) Michigan
(D) Danube

30. 20067 SIS 6 Bt e Jtfeirera R
@ e «1afb sjwarm o = e
(A) SR
(B) &t &t
(©) M=
(D) feisifs =1t

31. (SR @aife ARG CrorE w1aEe
(A) @EPre-T
(B) I3RS
(€) fd-ce
(D) QTGRM-4

32. e @ 7S 23; I 5 0w oA
W,W(Dice)&ﬁwmmmﬁs

(i)
A1l
(B) 2
©3
(D)6
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33. Vasco-da-Gama was a
(A) Dutch
(B) Portuguese
(C) French
(D) British

34. A dynamo, which is said to generate
electricity actually acts as a

(A) source of ions

(B) source of electric charge
(C) source of electrons

(D) converter of energy

35. If 1 is added to the numerator of a fraction,

1 . ;
it becomes ) and if 1 is subtracted from the

. .. 1 . :
denominator of it, it becomes 3 Find the fraction.

(A)
(B)

©

D)

36. Which day is observed as National Youth
Day?
(A) January 12
(B) January 23
(C) March 8
(D) March 21

37. The Nasik city is situated by the river
(A) Godawari
(B) Tapti
(C) Narmada
(D) Cauveri

A-10

33. SitH-u-si R
(A) S5
(B) AgTer
(C) Ty
(D) ¥=S

34. TiEEI, T e Besly 37, 917 fofere oiw
FE O 75

(A) SRR T

(B) fawje Teotvima Bt (9ter7 =)
(C) TG FfPIx Teoifeaga

(D) *f&x 7 sAfasaiat

35. G0 SRR FEI I 1 @5 T4 oA

EXl % GR 2 (A 1 Rt Fac waliesifs =z % |
SR o Feee |

(A)
(B)
©)

(D)

36. ‘@R I3 e @I fefocs oiifere =
(A) 12 @iAfa
(B) 23 @iy
(C) 8w
(D) 2196

37. [ =27 @ TR A w3fEe ©f =@
(A) comwRSt
(B) =i
(C) wsfat
(D) FIEA
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38. Theratio of Assam teaand Darjeeling teain
aspecial blendis 3 : 4. Then determine the quantity
of the mixture of tea in which 1 kg of Assam tea is

present.
(A) 12kg
(B) 12kg
(©) 1kg

©) T kg

39. In a club, every member contributed as
many 10 rupees as the number of members to raise
the subscription of amount Rs. 4000. How many
members are there in that club?

(A) 40
(B) 30
(©) 20
(D) 10

40. The State with the lowest percentage. of
persons below the poverty line is

(A) Kerala
(B) Maharashtra
(C) Punjab
(D) Gujarat

41. Ayanworking for2 daysand Sayan working

for 3 days complete % of a work. Again Ayan
working for 3 days and Sayan working for 4 days

complete % of the work. How many more days

Sayan will take than Ayan to complete the work, if
they work separately?
(A) 5days
(B) 10 days
(C) 15 days
* (D) 20 days

CDF/19

38. @3 feIT @TEa b W @ wifEee bi-ag
SIS 3 : 4 | e (i 59 1 el e ot A,
G fil Bl-a3 sifasie fRefy a0 |

(A) 12 e
(B) 12 fait
(C) 1fFa

(D) % e

39. @b FIR TG o] fare, 2o vouf
10 Bi (reAw (G 4000 Bit St B | €% P
o] LY TS ?

(A) 40 °
(B) 30
(C) 20
D) 10

40. (@ AT FAGE I widwAN Aeva (7 &
GFT) ST A O 2
(A) @A
(B) w2=1g
(C) gk
(D) @&Ab

41, o7 2 fie @ 3111 3 ey v avaice 4l pice

%waﬁmﬁ@mﬁﬁwﬁnewmﬂw

FAE A %wwwimqw\a AR

JEH FACO TG (AT Fofra (@ oI 2
(A) 5=
(B) 10 fa=
(C) 15Ta
(D) 20 fa=

Please Turn Over
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42. Which country is not an Asian country?
(A) Laos
(B) Lebanon
(C) Mali
(D) Kyrgystan

43. The Congress Socialist Party (CSP) was
formally started at a conference in May 1933 in
(A) Bengal
(B) Bombay
(C) Bihar
(D) Assam

44. In a certain code language, THANKS is
written as SKNTHA. How is STUPID written in
that code language?

(A) DIPUTS
(B) DISPUT
(C) DIPUST
(D) DIPSTU

45. Agoods train of length 360 metres is moving
with speed 30 km./hr. How much time will the
train take to cross a platform of length 140 metres?

(A) 0-28 minute
(B) 0-72 minute
(C) 1 minute

(D) 1:5 minutes

46. Intwo acid solutions, the quantities of acids
are respectively 40% and 60%. In what ratio are
the solutions to be mixed so that the quantity of
acid in the new mixture will be 50%?

A) 1:2
(B) 1:1
© 13
(D) 2:3

A-12

42. 53 el @ @R ot e
(A) aTes
(B) G
(C) &
(D) aforsm

43. 1933 A @ AET APIHFSE Fa
ArereifEe wel (.99, ) @ s aifefe zafee
ol R

(A) AT
(B) @3-S
(C) faza-«
(D) S~

4. <3 Ao ©ET THANKS @2l =0
SKNTHA. GR wkfes ot @ STUPID
ISR @1 2?2

(A) DIPUTS
(B) DISPUT
(C) DIPUST
(D) DIPSTU

45. 360 oIz WY «3f TR G 30 Befii/=H1
(RSt AR | 140 R 7S @3l 2wl sfowy
FACS GADT TS I AN 2

(A) 0-28 ff"5
(B) 0-72 ffdB
(C) 1T 5

(D) 1-5 ff G

46. 76 TR T Sifices #fRei I
40% @ 60% | R b T3 T SATS @It Tow
e ey st 50% g

(A) 1:2
(B) 1:1
() 1:3
(D) 2:3
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47. In a row of students, Keya is 7th from the
right and Amal is 17th from the left. When they
interchange their positions, Keya becomes 33rd
from the right. Find the number of students.

(A) 47
(B) 48
(C) 49
(D) 50

48. Alexandria is located by the side of river
(A) Tigris
(B) Nile
(C) Tiber
(D) Danube

49. Simplify:

3W1__ 55 B8
V2+5 2447 5447

(A) 0

B) 242
© 35
D) V7

50. The universal law of gravitation is
propounded by

(A)" Kepler
(B) Galileo
(C) Newton
(D) Copernicus

51. l1stJanuary,2004 was Thursday. 3rd March,
2004 was—

(A) Monday
(B) Tuesday
(C) Wednesday
(D) Thursday

A-13

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

CDF/19

47. OF TR W QAR N (3 Tl
QA 797 B @R e IS (A 1799 B
uiE| Tew B AR 9@ @ TR (A
33 ©F I S0 | QAR A2 el a2 |

(A) 47
(B) 48
(C) 49
(D) 50

48. SEFEI@R @ T 4 S G ==
(A) OiEfem
(B) #iZ=
(C) iza=
(D) wifvea

49. AT FFA 8

W1 55 B
V245 2447 5+1
(A) 0

B) 242
©) 35
@) V7

50. foag oI ©red AU A9e!
© (A @R
(B) ferfere
(C) fredw
(D) i

51. 2004 AR 1st TR e & |
2004 AT 3rd W6 foF—

(A) G
(B) oI
(©) T

(D) e
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52. Thedistance between two places A and B is
25 kms. Sayak started walking from A towards B
at 6 am with the speed of 5km/hr. He takes rest for
5 minutes after walking every distance measuring
5 kms. When will Sayak reach B?

(A) At1lam.
(B) At 10 mins. past 11 a.m.
(C) At 20 mins. past 11 a.m.
(D) At 25 mins. past 11 a.m.

53.I1fA:B=3:4andB:C=6:S5, then
determine the value of A : C.
(A) 3:4
B) 6:5
(C) 9:10
D) 1:2

54. The Right to Information Act came into
force in
(A) 2005
(B) 2004
(C) 2006
(D) 2007

55. In an examination, a student scores
4 marks for every correct answer and losses 1 mark
for every wrong answer. If he attempts in all
60 questions and secures 130 marks, the number of
questions he attempted correctly is

(A) 35
(B) 38
(©) 40
(D) 42

56. Aphotoofsize2" x3" isuniformly enlarged
SO as to increase its area by 9 times. What is the
breadth of the enlarged figure?

(A) 9"
(B) 4"
©) 6"
(D) 12"

A-14

52. A€ Bulb 3 1Y 25 Bl | s s
2O A (U 5 /9% @t &% B a7 Sy
6717 | AfS 5 Rl o w19 (71 5 FfRG 33 R
T8 | S I B (0 (ARIE@?

(A) @& 115

(B), =1l 11 5t 10 G
(C) & 1151 20 fif¥c
(D) @ 115t 25 WG

53. A:B=3:49RB:C=6:53F A : C-a3
= fef e |
(A) 3:4
(B) 6:5
© 9:10
D) 1:2

54. ST ST W i T
(A) 2005 At
(B) 2004 a1
(C) 2006 =T
(D) 2007 e

55. =l 13w, 93l g el v Terz
G 4 TFF (o1 GR 2ol $a1 T w1 59
01 cofet | T 7 & 60 T 2 Twxr w0z @32 130
I A, ORCE (7 AIT Fould o Tex e 2

(A) 35
(B) 38
(©) 40
(D) 42

56. 2" x 3" A7 436 FHIE eI [F1fde
TR O CFqTe 9 @l I (o477 | Ko ooz oz
PO?

(A) 9"
(B) 4"
©) 6"
(D) 12"
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57. The present age of a father is thrice that of
his daughter. 15 years ago, the age of the father
was 6 times that of his son. If the daughter is
4 years younger than the son, determine the present
age of the father.

(A) 51 years
(B) 53 years
(C) 55 years
(D) 56 years

58. The code name used by the Indian nuclear
scientists in the case of ‘Pokhran I’ was

(A) Operation Shakti
(B) Laughing Buddha
(C) Operation Sunshine
(D) Operation Blue Star

59. What does SLV stands for?
(A) Statutory Liquidity Variable
(B) State Level Variation
(C) Satellite Launch Vehicle
(D) Sea-Launch Vessel

60. The ratio of two numbers is 5 : 7 and their
L.C.M. is 385. Determine the G.C.D. of the
numbers.

(A) 1
(B)5
7
(D) 11

61. If x:y:z = 3:2:1, then find the value of

x=2y+3z
x+y-3z

A) 1
(B) 0
©) -1

1
D) 2

CDF/19

57. oo &N T ST IO I[N [WEE
fomad | 15 q=7 =it oo 31 $17 #jTax TR
wyad & | IO, @ Sorw 4 =@ (@ 7,
foror a1 ey e |

(A) 513=7
(B) 53 9=»g
(C) 553=3
(D) 56 7=

58. CARRN-T" SARRS SIFHIF AW OO
AR (I @ @I T Y IR
©f Z&

(A) S =&
(B) =it 3@

(C) SHAI Fie1izs
(D) SAIEE® g 301

59. ‘g @ f&'7 21 Telld ==
(A) oribTofR el cefamza
(B) (%G (3toa SHfG™H
(C) ICHaTIRG &% (o
(D) SH-a1%e (SR

60. TG FRAF SFHAT 5 : 7 4R OIWA AALL.
385 | WAMMHA . A.%. F© T, ©f [efay 6 |
(A)1
B)5
©7
(D) 11

61. x:y:z = 3:2:1 = L 43 T fefa
x+y-3z
P |

(A) 1
(B) 0
©) -1

1
D) 7
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62. What is the headquarters of Reuter news
agency?
(A) New York
(B) Washington
(C) London
(D) Birmingham

63. Endoscope, used by doctors for examining
the inside of a patient’s stomach, works on the
principle of

(A) reflection of light
(B) dispersion of light
(C) refraction of light
(D) total internal reflection of light

64. Which term comes next in the sequence:
AC,FH, KM, PR, ?
(A) UW
(B) VW
(C) UX
(D) TV

65. There is a road of 2 metres broad, around a
rectangular garden whose length is 25 metres and
breadth is 17 metres. The area of the road is

(A) 184 sq.metres
(B) 88 sq.metres
(C) 34 sq.metres
(D) 50 sq.metres

66. What is the largest salt lake in the world?
(A) Lake Superior
(B) Caspian Sea
(C) Chilka Lake
(D) Wular Lake

A-16

62. TIOIA LA A (T P 2
(A) fE TF
(B) eTf®<H
(C) e
(D) ffegw

63. @V AREAR (T SRF AR G
et @ ot IR FEw ©f @I R
AR et I ?

(A) iR afefm
(B) e f[ifwe
(C) SR affesrae
(D) ST Srereset 7 effezrerw

64. 3 i “7SIB N 2@ ?
AC, FH, KM, PR, ?
(A) UW
(B) VW
(C) UX
D) TV

65. 25 bR o @ 17 fib a3RM8 a3l
TFOIFIT M BIRAIT 2 [oI vest ol s
IR | ARMHI T 2

(A) 184 3o
(B) 88 34w
(C) 34 3o
(D) 50 3sfRBE

66. {230 @A FIqEL NG 2w 2
(A) Ffsifsrra zw
(B) i s
(C) foert zw
(D) e 3w
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67. Find the simplest value of

3B

2
(A) 317

201)
203

2
(B) 29-7—

© 35

®) 3

68. In which state of India ‘Sanchi’ Buddhist
Monuments are situated?

(A) Madhya Pradesh
(B) Maharashtra
(C) Uttar Pradesh
(D) Orissa

69. Find the missing character:

@Q@“%ﬁ
@060

(A) 12
(B) 25
(C) 48
(D) 52

70. Which river in W. Bengal is described as
Bengal’s Sorrow?
(A) Kangsabati
(B) Ganga
(C) Damodar
(D) Subarnarekha
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201

203)“53

o b-3e-o-Sh--

FEeTon WG WefT 3 |

2
(A) 317

2
(B) 297

© 203

®) 2

68. St (qm FRevNef erTed @iF e
IJRR?
(A) ST
(B) RIATY
(C) Teem™
(D) efe!

69. 78 WY Fo?

(A) 12
(B) 25
(C) 48
(D) 52

70. ARSI IR AR AR G2 I AR ?
(A) TR
(B) sl
(C) WA
(D) ez
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71. Pis any point inside the rectangle ABCD.
Then which one of the following is correct?

(A) PA+PC=PB +PD

(B) PA? + PC2 = PB2 4 PD?2
(C) PA?+PB?=PD? + pC2
(D) PA? + PD? = PB2 4+ pC2

72. In the series 7,14, 28, ..., what will be the
10th term?

(A) 1792
(B) 2456
(C) 3584
(D) 4096

73. Which number is in the square, ellipse and
triangle?

(A) 1
(B) 5
© 6
(D) 7

74. Find the ratio of 20 kms. per hour’ and
‘20 metres per second’.

(A) 7:9
(B) 5:7
(©) 5:18
D) 1:1

75. A boat covers a distance of 1 km in
6 minutes in downstream and a distance of 6 km in

1 hour in upstream. Determine the speed of the
Stream.

(A) 182 kms/hr.
(B) 188 kms/hr.
(C) 8 kms/hr.
(D) 2 kms/hr.

A-18

| otet Tvr @t B
(A) PA+PC=PB +PD
(B) PA%+PC? = PR2 4 Pp2
(C) PA? + PB2 = PD? 4 p2
(D) PA?+PD? = PBR? 4 pC2

72. ffERe R 10°o% 7124715 9 2732
7,14,28, .2
(A) 1792
(B) 2456
(C) 3584
(D) 4096

73. @ 72 Square, ellipse €32 triangle 9

ez ?
.’
(A) 1
B) 5
©) 6
(D) 7

74. ‘af® wBIw 20 RA g3z ‘offs TS
20 51T ~awra Spsire ey |
(A) 7:9
(B) 5:7
(€) 5:18
(D) 1:1

75. aﬁm@mwﬁﬁﬁm%ﬁw

AR S 2o T 6 6 213 | v iRy
fRefr <szeey | -

(A) 182 /g%t
(B) 188 ffii/x5t
(C) 8 f/=e%1
(D) 2 /=<5
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76. In an examination, 25% of the candidates
pass in Mathematics and 20% of the candidates
pass in English. If 10% of the candidates pass in
both the subjects, then determine the percentage
of the candidates who fail in both the subjects.

(A)55
(B) 65
©) 70
(D) 75

77. Find out the wrong match :

(A) Gaddalika - Parashuram

(B) Virangana - Bankim Chandra
Kabya Chattopadhyay

(C) Samyaor - Bankim Chandra

Equality Chattopadhyay
(D) Ghare Baire— R. N. Tagore

78. Who discovered Bacteria?
(A) William Harvey
(B). Louis Pasteur
(C) Edward Jenner
(D) Leeuwenhock

79. A andB together complete a workin 2 days.
The time taken by B to complete the work
individually is 3 days more than that taken by A*In
how many days B alone can complete the work?

(A) 3 days
(B) 4 days
(C) 5days
(D) 6 days
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76. @I AR AWATE 25% It @R
20% 2EfRTCe i e | I 10% Ton A o

(A, ©EE Weadl FeGH vod KA (e I, ©f
ofm T |

(A) 55
(B) 65
(C) 70
(D) 75
77. @ (SISl e ?
(A) seeifers! — RN
(B) I I - IE"
BRI
(C) g A - EHE
ESiiaiy SUEIAH
(D) ¥ A — IR 1A

78. FIFGRIT TREETS &2
(A) T 2T
(B) T2 AreEq
(C) GUeTE (TIF
(D) FroerwzD

79. A€ B G (@I G0 e 2 e 7=
FE | TFAMSIE GF TG T A3 & 30 =105,
©1F (57 B-43 3 el @R s &t | B Fefce e
GHIP A=A FACO A2 :

(A) 3 =
(B) 4
(C) 5
(D) 6=
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80. InIndia, new All-India Services are created

by
(A) an amendment of the Constitution.
(B) Union Government in Consultation
with the UPSC.
(C) the Parliament on a resolution of the
Council of States.
(D) the President on the advice of the
Union Council of Ministers.
81. Simplify:
1 1
5+ 2
T2t
3- 4
4+ 5
(A) 27
(B) 23
19
(© 3
19
gy

82. Find the smallest positive number to be
subtracted from the number 9545 so that the result
of subtraction is a perfect square.

(A) 59
(B) 106
(C) 136
(D) 89

83. The simple interest and the compound
interest of a capital are respectively Rs. 1440 and

Rs. 1483-20 in 2 years. Determine the rate of
interest.

(A) 6%
(B) 5%
©) 65%
(D) 9%

A-20

80. SIS TGN TSRS Fer tofz IR/
(A) FREITT F2oehte =y |
B) (FET IBFOIT FRNET A1

FAEE @ 717 |
(C) IETer o SGERY C@?I NIEDEI
714 |
(D) @ER IGeTer AaneiEm aigefon
7|
81. e T ¢
i 1
95*2\2
j e
4
4+5
(A) 27
(B) 23
19
©) 33
19
(D) 37

82. 9545 WA (= @ wew g 2!
Rt s R owf Ao A2y 777,
fefy aeey |

(A) 59

(B) 106

(€) 136

(D) 89

83. mwmzwwvﬂemﬁw
TAIFT 1440 D1 '8 1483-20 B | e 717 ey
T |

(A) 6%

(B) 5%

(©) 65%

(D) 9%
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84. (i) Kailash, Govind and Harinder are
intelligent.

(ii) Kailash, Rajesh and Jitendra are
hardworking.

(iii) Rajesh, Harinder and Jitendra are
honest.

(iv) Kailash, Govind and Jitendra are
ambitious.

Which of the following person is neither
hardworking nor ambitious?

(A) Kailash

(B) Govind

(C) Harinder

(D) Rajesh

85. Kunal walks 10 km towards North. From
there he walked 6 km towards South. Then, he
walks 3 km towards East. How far and in which
direction is he with reference to his starting point?

(A) 5 km West

(B) 7 km West

(C) 7 km East

(D) 5 km North-east

86. If the areas of a square and a circle are
equal, then compare their circumferences.

A 2:n
(B) m:2
©) 1:1
@) m:\2

Latest Sarkari Jobs, Govt Exam Results,
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84. (i) Kailash, Govind @3} Harinder (&
i |
(ii) Kailash, Rajesh @R
FOR oA
(iii) Rajesh, Harinder €3 Jitendra 202 7% |
(iv) Kailash, Govind €3® Jitendra R0
TwiteR |
e afemm g @ IR AT
TR B (IS T2
(A) Kailash
(B) Govind
(C) Harinder
(D) Rajesh

Jitendra AR

85. Kunal Teard 10 km 2 | G (U0 (1
6 km W 310G | OFAT BT 3 km e free
B | @I G T wF R (A FS T GR (P

S IR ?
(A) 5 km #AP*6
(B) 7 km #f*57x

(C) 7 km &
(D) 5 km T&z-9&

86. «3 MHY GR I IS CFGFE T
20e O AR ger T |

(A) 2:4n
(B) m:2
©) 1:1
(D) m:V2
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87. Eight students A, B, C, D,E,F, G and H
are planning to enjoy car racing. There are only
two cars and following are the conditions:

(1) One car can accommodate maximum
five and minimum four students,

(i1) A will sit in the same car in which D is
sitting but H is not in the same car.
(iii) B and C can’t sit in the same car in
which D is sitting.
(iv) F will sit in the car of four people only

along with A and E but certainly not
with G.

If H and G are sitting in the same car, who
are other two students sitting in the same car?

(A)BandC
(B) Cand D
(C©)BandD
(D)E and B

88. Two pipes fitted in a tank separately fills it
with water in 6 hours and 12 hours respectively. In
how much time will those two pipes together fill
the tank?

(A) 3 hours
(B) 4 hours
(C) 5 hours

(D) % hours

89. -Find the missing character:

3[5 [3
416 |4
51212
58 |58 |62 | 2

(A) 126
(B) 122
(C) 128
(D) 124
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87. sﬁmA,B,C,D,E,RG@aaHm
wma%mfmﬁwwnz%mmﬁ;
Itz 43 *Safe fmams o

@) aﬁm@mamm@ﬁsw
ﬁwvn@&awww4mwﬁw
A |

(i) AR *f%rs 367 Wiz 1 siifers D 2
SR, € H &R sfifere o3|

(iii) B 9% C €32 *1iférs i 1 1 sifre
D 37 Wiy | :

(iv) F 73 G ifete @iy @saet 4 &
NI A 9 E 93 7% g G 7 o1
oo 77|

nﬁHtha@*fﬁ_c@wm,wm

T8 (I (I 7 62 fYre 307 iz 2

(A)B 932 C

(B) C 932D

(C) B4 D

(D)E 92 B

88. mmcﬁamwzmw%z%mqwaﬁm
mmﬁwawm6a®elzaqu«fm|
@zﬁﬂaﬁwwqcﬁwﬁﬁwm

(A) 395
(B) 4%y
(C) 5%

D) % TBH

89. 7 WS Fw 2
31518
4 |6 |4

15 ]2 |2

|58 [58 |62

(A) 126
(B) 122
(©) 128
(D) 124
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90. Among the supply side measures to contain
inflation is
(A) postponing public expenditure.
(B) mopping up excess liquidity through
taxation.
(C) credit control measures of RBI.

(D) maintaining price levels through an
effective PDS.

91. Theincome of Kabitaexceeds that of Sabita

by 10%. How much less is the income of Sabita
than that of Kabita?

(A) 9%

1
(B) 9%
(©) 10%

1
(D) loﬁ%

92. The capital of Belgium is
(A) Prague
(B) Sofia
(C) Brussels
(D) Brasilia

93. A number when divided by 5279421 leaves
the remainder 637. What will be the remainder
when that number is divided by 7?

(A)S
(B) 3
©1
D0
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90. (S9N s (AT TR T SISt
Lyl
(A) @R 7 Foe M|
(B) 37 Sifoa qrefe wtemsies i Bie |
(C) fawrs aeaa B (el fRagreia swfe
TR |
(D) wtansii (o1 % @) 515 =t 2ea

1o 2t |

91, JReIT W AT =T e 10% @ |
ARSI S FAOIT ST AT T 2
(A) 9%

1
(B) 95;%

(©) 10%

1
(D) 10ﬁ%

92, [T G 251
(A) o
(B) GrifEFa

(C) AP
(D) aiffera

93. @b MANEF 5279421 71! ©tel T 637
SR AT | G IRANE 7 7F Ol FAE I
Sl AR 2

(A)S
(B)3
©) 1
D)0
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94. If MINJUR is coded as 312547 and TADA
as 6898, how can MADURALI be coded?

(A) 3498178
(B) 3894871
(C) 3849781
(D) 3894781

95. When were the Olympic Games first held?
(A) In750 BC
(B) In776 BC
(C) In394 AD
(D) In 1904 AD

96. Which country invented the term “historical
sovereignty’ to claim its authority in a particular
region?

(A) USA

(B) North Korea
(C) China

(D) Syria

97. Arrange the following in a logical order:
(1) Frog
(2) Eagle
(3) Grasshopper
(4) Snake
(5) Grass
(A)1,3,5,2,4
(B) 3,4,2,5,1
(©)5,3,1,4,2
(D)5,3,4,2,1

. Choose the odd word:
(A) Bake
(B) Peel
(C) Fry
(D) Boil

A-24

RS 391 T2
(A) 3498178
(B) 3894871
(C) 3849781
(D) 3894781

(A) 750 fasBsiicar
(B) 776 Rt
(C) 394 %1
(D) 1904 55t

MBI e 2
(A) SR Fe=g
(B) Tex @ifaa
(C) B
(D) fifsmn

(1) Frog

(2) Eagle

(3) Grasshopper
(4) Snake

(5) Grass
(A)1,3,5,2,4
(B)3,4,2,5,1
(©)5,3,1,4,2
(D)5,3,4,2,1

. SEAE *A 0 W4ioa o 3
(A) Bake
(B) Peel
(C) Fry
(D) Boil
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TADA 331 =7 6898, ©izts1 MADURAI 95°@

95. Wfeif™izs (<=L el 0 ie] 2gafRe o

96. (I G R Sere e ARSI wwoR
MR 2SR o @ A ‘ARaBr AESHeer

97. FaEResks 3% s s sree ¢




99, Which railway in India was declared as a
world heritage?
(A) Taj Express
(B) Rajdhani Express between Delhi and
Guwabhati
(C) Delhi-Kalka Special Train
(D) Darjeeling—Himalayan Railway

100. A blacksmith has five iron articles A, B, C,
D and E, each having a different weight.
(i) A weighs twice as much as B.
(ii) B weighs four and a half times as much
as C.
(iii) C weighs half as much as D.
(iv) D weighs half as much as E.
(v) E weighs less than A but more than C.
’ " Which of the following is the lightest in
weight?
(A) A
(B) B
G C
(D)D
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99, TIIST (T @SR faanasamee e
34 AR ?
(A) O GI2A

(B) fd-chal® aiwaa ame™
(C) Tud-zrmat Reig G
(D) wifefer-fRateiy @eew

100. €&+ blacksmith (GTRIPFRR) A6H
@127 T SR 39 A, B, C, D @3 E, 2ifefbz e&w |
fom

(i) A-47 ST B-93 GER faed |
(i) B-4% @G C-43 ST 4%2 @ |
(iii) C-97 ST D~ ST TS |
(iv) D~43 €& E-97 STHA SES |
(v) E~47 6T A-97 39 7§ C-97 S&wd
5 @ |
fafReslm T @G eaE TABE
EGCak
(A) A
(B) B
(€) C
(D)D
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